
NAME _______________________________________________________________   DATE  ________________________

edubuzzkids.com  c   2015. All Rights Reserved.

1. Mary has 500 white papers. Retia has 350 white papers Retia wants to have 
    the same number of white papers as Mary. How many more white papers does 
    Retia need?

White papers with Mary = ____

(Retia wants to have the same number of white papers as Mary)

White papers with Retia = ____
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Raetia needs more white papers =  500 - 350  =  ____
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PROBLEM SOLVING QUESTIONS

Draw and solve the problems by using numbers, pictures or number bonds.
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